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Assignment C.1: 

The Server Message Block (SMB) and Network File System (NFS) protocols both can be used to implement file sharing among client and server machines. Let us assume a heterogeneous operational environment (Windows, UNIX, Linux).

Briefly explain how Windows supports SMB and NFS.

Give a rationale of why to favor SMB over NFS in a heterogeneous environment.

Describe a situation where NFS should be favored over SMB.

Assignment C.2: 

The Services for UNIX (SFU) NFS implementation provides a server for mapping Windows users to UNIX users and vice versa. 

Contrast the Windows and UNIX mechanisms for user identification.

Explain the flow of incoming NFS requests on a NFS server and outgoing NFS requests on a NFS client. 

Assignment C.3:

Explain to your instructor the applicability of the Interix subsystem and the various compatibility libraries to the different variants of Windows. 

Assignment C.4:

Interix and the Cygwin emulation platform both can be used to port UNIX applications to Windows. 

Contrast the Windows and UNIX mechanisms for process creation.

Discuss how a user-space library like Cygwin could implement the exec-family of system calls based on CreateProcess() (there is no exact exec() in Windows-API). 

Explain why usage of the Interix POSIX subsystem in production environments is preferable over usage of pure user-space emulation libraries.
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